
ω1 ω2

π

A
m

pl
itu

de

1

0

BPFLPF

Frequency (Hz)

IMF-1 IMF-2 IMF-3

2τ21τ2

0

0.2

0.4

0.6

0.8

1.0

mfb-0 mfb-1 mfb-2

0.0

1000.0

2000.0

3000.0

4000.0

5000.0

6000.0

7000.0

mfb0.conjugate x ffMirr abs mfb1.conjugate x ffMirr abs
mfb2.conjugate x ffMirr abs

Λ1 Λ2 Λ3

π0

Hz

Λn =[ωn, ωn+1]

φ1(ω) Ψ2(ω) Ψ3(ω)

ω1 ω2 ωπω0

Frequency (Hz)

φ1(ω) Ψ2(ω) Ψ3(ω)
2 2 2

+ +

= 0 + 1 + 0 = 1
= 0 + 0.70  + 0.70  = 1

2 2

A

D

B

Po
w

er

C

= 1

π0 Frequency (Hz)

0

0.2

0.4

0.6

0.8

1.0

mfb-0 mfb-1 mfb-2

φ1(ω) Ψ2(ω) Ψ3(ω)

0

0.2

0.4

0.6

0.8

1.0

mfb-0 mfb-1 mfb-2

φ1(ω) Ψ2(ω) Ψ3(ω)


